LE QUATTRO OPERAZIONI ENTRO IL 9

Metti in colonna e calcola

con la prova:
6.208 + 3.303 = 7.769 - 638 = 117 x 17 = 4449 :6 =
1.860 + 6.036 = 1.302 - 883 = 54 x 33 = 8.308 : 6 =
5.846 + 3.776 = 9.292 - 6.979 = 58 x 92 = 4323:5=
2.084 + 3.122 = 2.000 - 1.856 = 72 x 68 = 4994 : 3=
6.311+2.210 = 9.286 - 760 = 88 x 80 = 4853:2+=
4991+ 4590 = 1.917 - 1.092 = 3.056 x 2 = 2968 :8 =
6.196 + 1.290 = 7.496 - 869 = 1.819 x4 = 5489:5=
1.123 + 2.029 = 9.872 - 4873 = 4804 x 2 = 8.541:5+=
268 + 2.059 = 5.007 - 77 = 227 x 3 = 5457 :6 =
1.305 + 8.039 = 7.200 - 5.055 = 115x 2 = 6.184: 8 =

- ATTRO OPERAZIONI ENTRO IL 9.999

Metti in colonna e calcola

con la prova
374 + 8524 = 2.306 + 4.364 = 4749 +5.197 =
3.051+433 = 1.502 + 7.536 = 1.752 + 5.270 =
4918 + 930 + 3.962 = 2.394 + 1552 + 5449 = 4463 +235+2.854 =
6.034 - 3.185 = 4324 - 3.169 = 7.070 - 2571 =
1946 - 1314 = 5245 - 61 = 8.491 - 2.840 =
8.354 - 6.273 = 9.900 - 7.999 = 4711-1275 =
572 x 3 = 583 x 8 = 559 x 3 =
74 x93 = 65 x 82 = 188 x 13 =
9.809:4-= 7.653:3 = 7.751: 4=

3.238:2= 7.905:5+= 2558:2=__



LE QUATTRO OPERAZIONI ENTRO IL 9.999

Metti in colonna e calcola

i

con la prova: '
=2
786 + 6.256 = 8.092 - 1.362 = 556 x 17 = 4722:7 =
2.065 + 1,668 = 7.798 - 4.129 = 384 x12 = 1.323: 3=
1.672 + 2.137 = 5.088 - 1.734 = 243 x41= 2.269:3=
933 +8.351 = 9.892 -7.470 = 131 x 26 = 3.797 : 8 =
1.553 + 4,949 = 9.946 - 1.264 = 113 x 54 = 9.735: 2=
1.866 + 2.753 = 7.007 - 5.368 = 755 x 4 = 6.995:6 =
179 + 6.664 = 4289 -723 = 2560 x 3= 4083:8+=
1.833 +3.213 = 7113 - 240 = 1186 x 2 = 2005: 3=
8.032 +1071 = 9.235 - 428 = 1.712 x 3 = 5504 :8-=
5.042 + 539 = 8.100 - 5.637 = 591 x 8 = 1.795: 6 =

%1

4917 + 47

LE QUATTRO OPERAZIONI ENTRO IL 9.999

67 =

213 +8.043 =

482 +1.750 + 1.467 =
6.335 - 2.654 =
8.835-5.604 =
7.601-5891=

1.499 x 6 =
203 x17 =
7.162: 2=
5179 :6 =

Metti in colonna e calcola
con la prova
2)

3.164 + 5471 = 3.003 +5.316 =
2.819 + 6.117 = 3.630+2.302 =
1.187 + 2.696 + 5.066 = 6.965 + 251 + 2.740 =
9.141-7733 = 5.824 - 2583 =
9596 - 4.154 = 3386-2117=__
6.262 - 1970 = 9.380 - 6.594 =
785 x7 = 534 x 4 =
315 x 15 = 124 x 47 =
2.133:4:= 6414 : 8 =
2.362:2-= 6.073:7-=



LE QUATTRO OPERAZIONI

ENTRO IL 9.999

Metti in colonna e calcola
con la prova:

4682 + 243 + 1.460 =
5.309 + 2.304 + 948 =
3.659 +5.528 + 199 =
2.626 +4.149 + 899 =

1.289 + 3.841

4934 + 3.059 + 419 =
2.664 + 757 + 2.791 = 6.000 - 4.019 =
2.527 +5.026 + 278 =
2.339+45+3.733 =
628 + 113 +1.852 =

8.340 - 3.150 =
8.585 - 2.065 =
9.317 - 5.837 =
7.415 - 3.645 =
+2.905 =

3.526 -1.092 =

8.557 - 4.109 =

8.900 - 477 =

6.121 - 858 =

8.380 - 2.160 =

150 x 45 = 4722 :7 =
92 x 24 = 1.323:3=
233 x21= 2.269: 3=
367 x 27 = 3.797 :8 =
119 x 16 = 9735:2=
344 x 2 = 6.995:6 =
1322 x7 = 4083:8=
1090 x 6 = 2.005:3 =
1426 x 2 = 5.504:8 =
930 x7-= 1795:6 =

LE QUATTRO OPERAZIONI ENTRO IL 9.999
A

Metti in colonna e calcola

con la prova
3.049 +1.829 = 6.961 +1.815 = 1.877 + 2578 =
2.895 +1.851 = 6.147 + 265 = 1.603 + 5.328 =
5.551 + 2.067 + 819 = 969 + 4.007 + 418 = 4.380+1.278 + 468 =
6.544 - 2.795 = 7.439 - 328 = 6.490 - 1.510 =
4965 - 4451 = 8.057 - 5.281 = 7.361-6.043 =
3.660-2.410= 7774 -7.666 = 3.171-1.436 =
3918 x 2 = 1.360 x 3 = 1.674 x 4 =
315 x 13 = 85 x 80 = 329 x 30 =
1.803: 8= 8.086: 4 = 6.630: 6 =
2.788:7 = 4398 :5= 1.607 :7 =
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